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Note: Answer five Question Only (20 Marks for each Question )

Q1: Find x,y, z € R as following matrices

2,7 =3¢ 9 +G )
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Q2 :/ Find Domain and Range for following :

W) y=7T-2Bx- D @y=3—>

3 y=3-4x
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Q3:A/: If A=|7 gland B=|3 3| findA-B
8 1 14 -7

0%z
dxdy

Z =7x*y + 2y3tan3x — Sinx® — 2
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B: Find form the function :

2 =2 1 8 7
Q4:A/: If A={0 4 o0|,B=|9 2| FindA*B
11 8 -5 10 3

B: Find the value of following integration (Hint : m = 3.14)

T
J x%sin 5x dx
0
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Q5:A/: Answer as following integration :

2
J, *Pe*dx

B: Find derivative function :

y =3sec9x + 12x3 — 2x
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Q6:A/LIf A= {_06 _21} find inverse of matrix (A™)

&1*##****&#*&!i*li!!&*#i***#ﬁ**##ﬂ***ﬁ***!

B: Answer any one only

(1) If z=x%+42x —4 find the integralthenx =1 , x=3
2) Find [21 &

x—1
x*—35-4
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Ministry Of Higher Education
And Scientific Research
Southern Technical University
Technical Institute / Qurna
Computer Systems Department

Subject: Computer Architecture
Stage: First Class
Time : Three Hours
Date: (3/9/ 2017

Final Exam/ ¢ try/2016-2017

Note: Answer Five Questions Only (20 Marks for each Question)

Q1: Add the following pair of binary numbers, showing all carries:
1. 10111001 + 11010110 2. 01011101 + 00100001
3. 00100110 + 01011010 4. 1001001 + 0011001

Q2: Preform the following number system conversions:
1) 110.12 =6.510 2) 20910=11010001

3) AB3Dis= 4383710 4) 362.353 =242.45310

Q3: Use Boolean aljebra to simplify the following expression, then draw a
logic gate circuit for the simplified expression:

F= (A_ﬁ) . (B+C)

Q4: Modulus ten Asynchronous counter an Asynchronous counter can be
implemented having a modulus of 10 with a straight binary sequence from
0000 through 1010, then draw the truth table for this counter.




10 decoder

HIGH —»

FF2 FF3
@y

Figure 1

Q5: Draw a table to show how that th

e four Bit binary number 1101 is
shifted to Q outputs of the register.

FFO FF1 FF2 FF3 N
Data input FD‘&?—Q“ W D" p BTFE Data output
l—> Endl e b op
l GR (j [‘ R g " ar g mg
CLK \ ; ' : CLEAR
Figure 2
Q6: y=ZBE+EBc+A§E+ABE+ABc
1- Draw the karnaugh map .
2- Show groups in the karnaugh map.
3- Use Karnaugh map to simplify the SOP expansion,
GOOD LUCK
A G jn

Asst. Lecturer
Duaa K. Nassir
Head of Department
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